Quad Link Assembly
Before 4/07/06

_ Right side Joystick
/. / armrest plate reference only
e AN M
/" reference only.

.

OTE: For Quad Link components

Van Seat Arm ; ;
not listed, refer to item |.

Before 9/1/02
Joystick
Right side reference only
/S .
/" armrest plate
% reference only.
()

. N NOTE:For Quad Link
) components not listed,
\ refer to item |.

Van Seat Arm
After 8/31/02




Quad Link Assembly
Before 4/07/06

Item
Number

Note

Part Number

Description

Quantity Per

Package

Assembly

1

© 00N Ol WN

(I
P R o

© 00 ~NOO O WN

[N
P R o

© 00 ~NOO OB~ WN

o
(BN )

2

1074153

1119215

1119216

1114863-NLA

NLA - Kit, Quad Link Assembly - Right

For Van Seats

NLA - Ball Plunger Assembly with Lock Washer
Locknut (#10-32)

NLA - Screw, Cap, Socket Head (#10-32 x 1/2")
NLA - Bushing, Bronze (3/16 x 1/4 x 1/4")
Screw, Phillips Pan Head (#10-32 x 1-1/8")
Spacer, Joystick Tube, Black

NLA - Stud Plate, Quad Link

Screw, Hex Head (1/4-20 x 1-1/2")

NLA - Spacer (1/4 x 7/16 x 5/8")

Locknut (1/4-20)

NLA - Kit, Quad Link Assembly - Right

For Van Seats

NLA - Ball Plunger Assembly with Lock Washer
Locknut (#10-32)

NLA - Screw, Cap, Socket Head (#10-32 x 1/2")
NLA - Bushing, Bronze (3/16 x 1/4 x 1/4")
Screw, Phillips Pan Head (#10-32 x 1-1/8")
Spacer, Joystick Tube, Black

NLA - Stud Plate, Quad Link

NLA - Screw, Hex Head (1/4-20 x 1-3/4")
Spacer (1/4 x 3/8 x 1")

Locknut (1/4-20)

NLA - Kit, Quad Link Assembly - Left
For Van Seats

NLA - Ball Plunger Assembly with Lock Washer
Locknut (#10-32)

NLA - Screw, Cap, Socket Head (#10-32 x 1/2")
NLA - Bushing, Bronze (3/16 x 1/4 x 1/4")
Screw, Phillips Pan Head (#10-32 x 1-1/8")
Spacer, Joystick Tube, Black

NLA - Stud Plate, Quad Link

NLA - Screw, Hex Head (1/4-20 x 1-3/4")
Spacer (1/4 x 3/8 x 1")

Locknut (1/4-20)

NLA - Ball Plunger Assembly with Lock Washer

1

PR RRPRRPRPRRPRERRLRN PR RPRRPRPRRPEPRLRREN

PR RRPRRPRPRRPLEN

2

1

P WWwWwkrRrPEM~MAMMBMADNDEPR P WwwekrPkrMr~rADdBEADNEPE

P WWWRREFPANNBRRNEPR

NOTE: A -Includes the Quad Link, items 2-11 and used for Van Seats before 9/1/02. For left side mounted Quad link, order as a

special

B - Includes the Quad Link, items 2-11 and used for Van Seats after 8/31/02




